BEEMETAIA O -HHEH—E R (No.1) (SH7E1B1BEAE)
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W 5 A 176 96 80 67 |3 54 N 406 186 220 200 [#h H R F| 416 190 226 190 | /i B 5,604 | 2,676 | 2,928 | 2,681
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+ % | 1,016 478 538 437 |5 iy 58 32 26 2|\ =% +2TH 496 254 242 255 ||/ i Al 232 110 122 77
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BB OB AR 187 73 114 73 [IK = Y 43 17 26 23 | &% F3 T HM 103 40 63 71 Gl 2,391 | 1,117 | 1,274 | 1,115
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FEZMETAIA O - #HH—ER (No.2)

Hy 4 Ab % S JLiRE3 Wy 4 A 5 " ity LA A 5 S ity LA AH % S JLR: S 4 AH % S JLR: S
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2 P 135 57 78 000 # 35 10 25 20( i) 121 69 52 50| g 57 29 28 2410 W 63 28 35 22
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